Lot w be o covcle and P, Q) twe dislinet poinds nol o w,
Then the radical ares of w and ol the cirdes
through P and ) have o common point.

Proof :

Let wy be any cirele through P and 0},

Let e be the radical axiz of w, w,.

Let X = POYm e,

From X draw fangents XT., XT, to w, w,. resp.

Then XTy = XT and XTY = XP-X0Q (1)

Let wy be any oiher second circle throwgh P oand ().
From X draw a tangent XT, to w,.

Then XT: = XP-XQ  (2).
From (1) and (2), XT = X T

There fore, X lies on the radical axis of w and w,.
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